RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving Juvenile Justice and Delinquency Prevention Subgrant 1989)

RES. NO. 357-89

1	T 1 5	
2	WHEREAS,	the Juvenile Justice and Delinquency Prevention Act of
3		1974, as amended by the Juvenile Justice and Delinquency
4		Prevention Amendment of 1988 (subtitle F of title VII of
5		the Anti-Drug Abuse Act of 1988, P.L. 100-690) has been
6		reauthorized and modified to include a funding pass-
7		through requirement for Indian tribes; and
8	WHEREAS,	the Indian pass-through funds are determined by the
9	Tê.	proportion of reservation youth to total Arizona youth
10		and for 1989 the State of Arizona estimated this
11		allocation at \$50,531.00; and
12	WHEREAS,	the Juvenile Justice and Delinquency Prevention Act was
13		enacted to authorize funding to states which targeted
14		juvenile delinquency activities toward jail and lockup
15		removal; and
	WHEREAS,	the Tohono O'Odham Judiciary has been actively diverting
16 17		O'Odham youth from lockup by carrying out a Diversion
18		Program for eligible youth; and
	WHEREAS,	the availability of Juvenile Justice funds provided an
19 20		opportunity for the Tohono O'Odham Judiciary to expend
		the Diversion Program with more alternative activities;
21		and
22 23	WHEREAS,	the Tohono O'Odham Judiciary did submit an application
	45	for a grant under the Indian pass-through allocation and
24 25		was successful resulting in a subgrant award of
26		\$8,097.00 for 1989-90; and
	WHEREAS,	the subgrant award will supplement Diversion activities
27		and establish a law related education program for first
28		offenders as an alternative to formal prosecution and
29	3	disposition; and
30	WHEREAS,	a resolution approving the initial application and
31		accepting the award are requirements before the subgrant
32		그는 그들은 그 전 경험에 가는 그들은 그것도 살아왔다. 그는 그들은

award becomes official.

RES. NO. 357-89 (Approving Juvenile Justice and Delinquency Prevention Subgrant 1989) Page Two (2)

1 2

3

4 5

6

7 8

9

10 11

12

13

14

15 16

17 18

19

20

21 22

23

24 25

26

27 28

29

30

31 32 NOW, THEREFORE, BE IT RESOLVED by the Tohono O'Odham Legislative Council that it does hereby approve the application submitted by the Tohono O'Odham Nation to receive Juvenile Justice and Delinquency Prevention funds for the purpose of expanding existing diversions activities. BE IT FURTHER RESOLVED that the Chairman, Vice Chairman, or other legally designated official are hereby authorized and directed to negotiate and execute the subgrant documents and any amendments thereto for the duration of the subgrant, provided however, that any amendments affecting the funding or funding levels of the subgrant shall be submitted for further prior approval by the Council.

The foregoing Resolution was passed by the Tohono O'odham Council on the <u>24th.</u> day of <u>October</u>, <u>1989</u> at a meeting at which a quorum was present with a vote of <u>1,558.0</u> for; <u>-0-</u> against; <u>-0-</u> not voting; and <u>166.0</u> absent, pursuant to the powers vested in the Council by Section <u>1</u> (f) of Article VI of the Constitution of the Tohono O'odham Nation, adopted by the Tohono O'odham Nation on January 18, 1986, and approved by the Acting Deputy Assistant Secretary -Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).

> TQHONO O'ODHAM LEGISLATIVE COUNCIL for Edward D. Manuel, Legislative Chairman 26 day of Großer , 1969

ATTEST:	(
lines	M.	Chouse	ha	
Teresa M.	Choyguha	, Legislat	ive Se	cretary
26 Ma	y of	Dotober	, 19	89.

Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham Nation on the 26th day of 1989, at 314 o'clock, .M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective upon his approval or upon his failure to either approve or disapprove it within 48 hours of submittal.

RES. NO. 357-89 (Approving Juvenile Justice and Delinquency Prevention Subgrant 1989) Page Three (3) TOHONO O'ODHAM LEGISLATIVE COUNCIL FovEdward D Manuel, Legislative Chairman on the 29 day of October, 1987, DISAPPROVED) at 7:25 o'clock, P. M. ANGELO J./JØAQUZN, SR., Chairman TOHONO O'ODHAM NATION Returned to the Legislative Secretary on the 30 day of Volober, 19 89, at 10:35 o'clock, A,M. Teresa M. Choyguha

Legislative Secretary

MOVED:	Rosita Ruiz	SUBJECT: Approving Juvenile Justice and
SECOND:_	Joseph Juan	Delinquency Prevention Subgrant 1989

DATE: October 24, 1989

RESOLUTION NO.357-89

DISTRICTS	REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
CHUKUT KUK 163.0	1. Rosita Ruiz (Rosemary Lopez)	81.5	Х			
	 Kenneth G. Williams (Harriet Toro) 	81.5	X		1-1	X
HICKIWAN 125.0	1. Lloyd Francisco (Billy C. Manuel)	62.5	X			
	2. Henry Ramon	62.5	X			X
GU VO 114.0	1. Cross Antone (Juan Joe Cipriano)	57.0	X			X
11110	2. Virgil Lewis (Michael Flores)	57.0	X	e* =		
SAN LUCY 106.0	1. John Reno	53.0	X			X
100.0	 Albert Manuel, Jr. (Max P. Jose) 	53.0	X			
PISINEMO 119.0	1. Edward Manuel (Alex Antone)	59.5	X			X
119.0	2. Johnson Jose ()	59.5	X			
GU ACHI 166.0	1. Alex J. Ramon (Fernando Joaquin)	83.0				X
100.0	2. Percy Lopez	83.0				X
BABOQUIVARI 229.0	1. Joann Garcia (Frances Miguel)	114.5	X			
229.0	2. Earl A. Francisco (Kenneth Chico, Sr.)	114.5	Х			
SAN XAVIER 127.0	1. Joanne C. Preston (Carmelita Mattias)	63.5	X			
127.0	2. Eugene Enis, Sr. (Michael Rios)	63.5	X			
SCHUK TOAK 107.0	1. Joseph Juan (Frances Francisco)	53.5	X			
107.0	2. JoAnn Francisco (David Valenzuela Sr.)	53.5	X			
SELLS	1. Joseph T. Joaquin	155.0	X			
310.0	(Larry Garcia) 2. Andrew Patricio (Daniel Lopez)	155.0	X			Х
SIF OIDAK 158.0	1. Willard Juan, Sr. (Melissa Gregorio)	79.0	X			
130.0	2. Mary Ann Antone (Nina Jose)	79.0	X			X
	TOTAL	1,724.0	1,558.0	-0-	-0-	166.0